00 A

Vi.Semester B.Com. Exam sJuly/August 2024
(NEP)
COMMERCE
COM 6.1 : Advanced Financial Management

Time : 22 Hours Max. Marks : 60

Instruction : Answers should be written completely either in English
or in Kannada.

SECTION - A
WP — D

Answer any six sub-questions. Each sub-question carries two marks : (6x2=12)
O3TRTOTITH 2T Wﬁ-@%ﬁ@ﬁ UBOR. J)@ wﬁ-@‘%ﬁ STTR e303NGL ¢

1. a) What is zero-growth dividend model ?
R~ BB Ero oY BWRTO 0BT ?

b) Mention the two approaches to relevance theory of capital structure.
200BOY Te3dod T,R0BICD m%osa QTR DFINTIY goedesda.

¢) What do you mean by “investment decision” ?
Qe BFBQ, “ZRRE0DH NS 00T 2

d) State any two disadvantages of RADR method.
9700030 BROTIVEITO3) DOIFCE TTT ASRFYTTWTR T OTDBRONTT) 392

e) Bring out any two differences between growth and normal firms according
to Walter.
YT @, 00 VR o2 AT, ﬁo:o;ﬁeé SR CIRFTORTR AT
B,FANTTY, 39R. o

P.T.O.
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f) Write the meaning of interim dividend.
RT0BT CoYIDOTT LR, WBCWD.

g) State the types of diversification.
BORTTEE OeBNIIY, QA

h) Give the meaning of “integrated report” in corporate governance.
mop\gpﬁ BTYE TOFONEDY, ‘Hoodpews S8R ob wF Qeq.

SECTION -B
PN~ ©

Answer any three questions. Each question carries 4 marks : (3x4=12)
ORE)TRTETR FRT [ Nen YuZoR. B3 agéolﬁ 4 e03nsd :

2.

Explain the forms of dividend.
Inthplesing dmaﬁﬁesfﬁgl WD

State any four importance of ethics and governance in corporate finance, in
brief,

RogFamoN, FOAT BEFTRTEY, 838 20B) WTRVIE CIRHTTETR Toe

3,300, 3T, S0 o

.. Smitha Lid. wants to issue 10,000 new shares of ¥ 1,100 each @ par. The

flotation cost is expected to be 5%. The company has paid dividend of ¥ 20
per share in the last year and is expected to grow by 8%. Compute the cost of

equity share capital :
i) In case of new equity shares.

i) For existing shareholders assuming market price of the share is X 2,2.5‘0

per share.
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Réé QOB 10,000 Be= e—-"aedori@mq B T 1,100 T Rooe3esn LeEden fazsd?ud.
@d@t‘ﬁ Je. 5 SR, 3eenw ﬁ?:g’dwﬁ% LI0TDRTI. HODT WRF oy FOTIOID

%20 503 I, wWednt CoeT0TRT), VeRTTT Tone Be. 8 TR), Bk, LITe3edrioddTy
ROeFRT. B3 FINT RYF[eBNr TR, Redd wormd SR, ForROBBOWD :

i) B TP, ReSONT.
ii) B8N0z Reomosor, T8 RedT [RTTE, @R T 2,250 o8 10t ER0RD.

5. Suggest which of the following proposals should be accepted using Co-efficient

of variation :
Proposal Expected NPV (%) Standard Deviation
A 19,000 4,500
B 23,000 6,200
B,TYRE MOFF0E STTE Bded, B3 FINT oINS FATIODT), R LBORWITOTOTD
RO Ded. ,
B,REN Qe dTY B,=0rd
pr [N [~
2,333 [He), IO
®)
Q 19,000 4,500
) 23,000 6,200

. Calculate exchange ratio under EPS and MPS from the following if Arya Ltd.

is taking over Surya Lid. :

Particulars Arya Ltd. Surya Litd.
Net Sales () 2,00,000 1,50,000
Profits available to equity shareholders X) 30,000 25,000
Number of ES 10,000 10,000
EPS ) 3 2.5
Market price per share ) 30 20
Price earning ratio | 10 8
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S03F AT RRODF DODRVBHR), TPSTR2ER0BY,, 3 FINT
BB, GUTIREARBROM, T8 HeOS e (EPS) 039 B8 Heos
RT3 =P, (MPS) 718 e9B0D, SR SRITRITR), T0REBE0 :

ST L ol . . TRO1F A.
QR BP0 ) 2,00,000 1,50,000
ToBRF, Weddresdn DR g ) 30,000 25,000
RowTd, Hedone Koss, - 10,000 10,000
3,8 Red nwd (EPS) ) 3 2.5
%3 TWeOR [esusd =P, ) _ 30 20
23¢3 NYFOD IROTOB 10 8
SECTION-C
ST B
Answer any three questions. Each question carries 12 marks : (3x12=36)

IRyt St B3R eugor. 33 @eﬁﬁ 12 es08neh -

7. Naren company decided to raise flnance by issuing equity shares, preference
shares and debentures. The followmg details are made available :

Sources of funds Book Values (%) Market Values (3)
Equity shares 6,00,000 7,00,000
Preference shares 4,00,000 4,00,000
Debentures 5,00,000 5,00,000
Total . 15,00,000 16,00,000

Additional data :
a) Current selling price of equity is ¥ 100 p/s.

b) The Co. pays dividend of ¥ 5 p/s and the cost incurred for raising shares
is X 6 p/s.
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¢) 10% preference shares with face value of ¥ 100 is issued at ¥ 140 p/s.
Underwriting commission being ¥ 7 per share.

d) 10% Debentures with a face value of ¥ 100 is redeemable after 10 years,
3% underwriting fee is incurred on issue price of debentures.

e) Tax rate is 40%.
Calculate weighted cost of capital using :
i} Book value weights.

ii) Market value weights.
JTe" BOBROI, BEFTIRT FOM,TRMON TR, RECONWD, ST To Redonsh T

OB, NER), VB DT, e5T38 FOWORATOZ B3 IFFOTW SN DT

N Tononsd YT 33‘906 ) mdasé;?w 533305 )
mabasﬂ TN 6,00,000 7,00,000
ejcgsm ReTonsd 4,00,000 4,00,000
ROOTZ, NFO 5,00,000 5,00,000

283, 15,00,000 16,00,000
'&"?.iai &S

a) BRI FwRT, Keos [nvewd ¥id X 100 I8 Reort.

b) B0 B8 Hedrt . 5 ToB oyT08 EERIST. WeTTY, o7, &HALO FRLES
W3 X 6 =,8 weon.

¢) Y100 =osdddad, Je. 10 &Tzo Hedones), &, @edrt I 140 § DerOINS.
escS'c’ﬁ 3nens u@—-g’dodcsaaﬁoda FOT® (BoR0z0) X 7 T, o,

d) ¥ 100 S003e30d, Je. 10 m@ﬁgmﬂ@t , 10 IR 030

TOTOFPRTOMORT. QAWT WBTewe 2330t adees Je. 3 O, u@ozﬁmaﬁoﬁ:
ebe%asagl TORSRTONT.

e) 301 ©ox) Je. 40.

PHT TP, BRT WO BWRTTES [P, BRBNG FHODBEODTN, WOBHPE SRTH
I, FOBIGRRAWO.
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8. On the basis of the following information, calculate standard deviation and
Co-efficient of variance of Project ‘R’ and ‘S’ :

Project ‘R’ Project ‘'S’
Year Cash Flow ()| Probability | Cash Flow ()| Probability
1 30,000 0.1 25,000 0.1
2 50,000 0.2 45,000 0.15
3 25,000 0.4 20,000 0.5
4 20,000 0.2 15,000 0.15
5 70,000 0.1 65,000 0.1

Recommend which project should be accepted.
FENT BN 35000 oed, 03ty ‘ot FF) ‘0F F ‘FH,mNIE NS =B
‘B3R ROTO08 T T, BORD ST, 03RE 03RenSod RATHO TOT D@ :

odpes ‘eso® odnexs ‘onf
SR | I RoY )|  Ropmteod | Srch=omy ()| Bowsveed
1 30,000 0.1 25,000 0.1
2 50,000 0.2 45,000 0.15
3 25,000 0.4 20,000 0.5
4 20,000 0.2 15,000 0.15
5 70,000 0.1 65,000 0.1

9. From the following details relating to a company, determine the market price
of shares under Gordon’s model :

Earning per share : ¥ 15

Cost of capital : 8%

Return on investment : 10%

Pay-out ratio :

a) 35%
b) 25%
¢) 20%
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10.

11.

2,023 FOTAN BoL0RATICE FPNT &S00, TRRF S RWNRTOOHBONEG Redony
mmﬁagd WP, TRY, FORILBOND :

®,8 [eds ned (EPS) : T 15
woRmY 5,1 Se. 8

BREFD 20edT T ézw : Se. 10
TOBE- 9T :

a) 3e. 35

b) 3e. 25

¢) 3e.20

Explain briefly about the merger negotiation process.
20T FOTS T,8,03008 27§ WoFTemN QWOA.

What is Agency Relationship Theory ? Explain briefly its components.
‘o:)?i‘&gq ROWOT R:mgaoa" DOTTER) 7 WTT e:sosjmiagl ('-fwéaﬁﬁeéa%) ﬁoiagmﬁ PO,




